

Efficacy of Induced After Death Communication Therapy for Grief: A Single-Group Wait-List Controlled Trial

OMEGA—Journal of Death and Dying

2026, Vol. 0(0) 1–17

© The Author(s) 2026



Article reuse guidelines:

sagepub.com/journals-permissions

DOI: 10.1177/00302228261418413

journals.sagepub.com/home/ome

Thomas J. Nehmy¹ , John Daniels², Paul Williamson³,
Sarah E. Stegall-Rodriguez⁴, and Noelle R. St Germain-Sehr⁵

Abstract

Induced After-Death Communication (IADC) therapy, which uses bilateral stimulation derived from EMDR, is an emerging approach to reducing grief symptoms in bereaved individuals. The present study evaluated the IADC protocol, consisting of two 90-min sessions, in 43 bereaved adults with assessments at four time points including a one-month waitlist period to provide control data. Large reductions in grief symptoms were observed from baseline to follow-up (global grief severity $d = 1.56$; average daily sadness $d = 1.33$). Two-thirds of participants who exceeded the clinical cutoff score for prolonged grief at baseline scored below this threshold at follow-up. Treatment effects were comparable across delivery methods (in-person vs. online) and were not moderated by time since loss or baseline symptom severity. After-death communications occurred in 79% of participants during therapy and predicted stronger continuing bonds with the deceased. These findings support IADC as an efficient treatment option for bereaved individuals.

¹School of Psychology, Adelaide University, Adelaide, SA, Australia

²Clinical Psychologist in Private Practice, Gold Coast, QLD, Australia

³College of Education, Psychology and Social Work, Flinders University, Adelaide, SA, Australia

⁴Department of Psychological Science, The University of Texas Rio Grande Valley, Edinburg, TX, USA

⁵School of Education, College of William & Mary, Williamsburg, VA, USA

Corresponding Author:

Thomas J. Nehmy, School of Psychology, Adelaide University, Level 5, Hughes Building, South Australia, Adelaide, SA 5005, Australia.

Email: tom.nehmy@adelaide.edu.au

Keywords

grief therapy, induced after-death communication, prolonged grief disorder, bilateral stimulation

Grief is a ubiquitous human experience associated with significant psychological impacts, including depression, anxiety, and loneliness, as well as disturbances in sleep and physical health (Stroebe et al., 2007). However, non-specific grief counselling, when routinely offered to bereaved people, has demonstrated limited efficacy (Neimeyer & Currier, 2009). Additionally, up to 10% of grieving individuals experience prolonged or ‘complicated’ grief with commensurate impairment in functioning and quality of life (Lundorff et al., 2017). The need for more effective approaches to assist grieving individuals is therefore a public health imperative.

Induced After-Death Communication (IADC) therapy is a derivative of eye-movement desensitisation and reprocessing (EMDR), utilizing bilateral stimulation to process the sadness associated with grief and loss. As in EMDR, it is hypothesised that bilateral stimulation (BLS) through eye movements (or tapping) facilitates the emotional processing of grief-related distress. However, IADC differs from EMDR in that it is briefer than standard EMDR protocols (Shapiro, 2018), does not interrupt processing in the case of intense distress, and has clients close their eyes between sets of eye movements. The primary therapeutic mechanism of IADC is in using BLS to reduce the intensity of grief-related sadness, however IADC also recognises that the resulting state of reduced sadness is associated with the experience of after-death communications, although the precise psychological or neurobiological mechanisms remain speculative. The client does not need to have an after-death communication to receive the benefit of the therapy, although it is proposed that these experiences may yield further therapeutic benefits (Botkin, 2000; Valdez et al., 2021).

An after-death communication (ADC) is the experience of perceiving the presence of a deceased person in some way. ADCs are subjective and usually internal sensory experiences such as seeing an image of the deceased in one’s mind’s eye, or perceiving the deceased’s voice, and even tactile sensations such as a sense of being touched or hugged, for example (Botkin, 2000, 2014; Valdez et al., 2021). ADCs are common in the general population, with rates reported between 30% and 85%, with higher rates reported among the recently bereaved (Streit-Horn et al., 2022). ADCs are usually considered by experiencers to be benign or comforting and are associated with enhanced adjustment to bereavement (Penberthy et al., 2023). There are no known reported cases of distressing ADCs in IADC therapy, however spontaneous ADCs can be distressing for a small minority of experiencers (e.g., 4.6% of widowed adults in a Danish survey sample (Kamp et al., 2024)). Some researchers have used the term sensory experiences of the deceased (SED) to describe the phenomenon of ADCs (Kamp et al., 2024). Despite being recognized as a common and non-pathological part of the grieving process, the DSM-5-TR refers to ADCs as “hallucinations” (American Psychiatric Association, 2022). Some researchers have questioned the helpfulness of

this language as it implies pathology (Exline, 2021). This is of clinical importance as evidence suggests the acceptance and validation of experiences such as ADCs by mental health professionals is predictive of client adjustment (Beischel, 2019; Makikomsí et al., 2024). The frequency of ADC experiences within IADC therapy is estimated to be approximately 75% (Botkin & Hannah, 2013; Hannah et al., 2013).

Early evidence suggests IADC therapy may be superior to traditional grief counselling. Holden and colleagues (2019) conducted an experimental pre/post study comparing IADC therapy to traditional grief counseling (TGC) among 41 bereaved adults (Holden et al., 2019). TGC included assisting the client to express their feelings, make meaning from the loss, and address the tasks of coping with grief. Results showed that IADC clients had significantly greater reductions in overall grief symptoms (e.g., *I feel a heaviness in my heart; I have difficulty concentrating*), compared to TGC clients, with a large effect size as measured by the Hogan Grief Reaction Checklist (Hogan et al., 2001). When examining the six Hogan subscales individually, the IADC group showed significantly greater improvement on one subscale (*blame and anger*) and nonsignificant improvement on the other five (*despair, panic behavior, personal growth, detachment, and disorganization*), with effect sizes ranging from medium to small. Importantly, most participants did not meet criteria for prolonged grief disorder, suggesting IADC may be effective for a broad range of bereaved individuals, not just those with severe or complicated grief. These promising initial findings warrant further research into the efficacy, mechanisms, and scope of IADC therapy.

A recent Italian observational cohort study (D'Antoni et al., 2025) similarly reported significant improvements in grief and distress on the Inventory of Complicated Grief (Prigerson et al., 1995) following IADC therapy compared to standard grief interventions. Although encouraging, the study's observational design, lack of randomisation, and variability in the comparison treatments limit the strength of conclusions that can be drawn. Nevertheless, their findings add preliminary support to IADC's efficacy and highlight the need for more rigorously controlled research. The studies by Holden and colleagues (Holden et al., 2019) and D'Antoni and colleagues (D'Antoni et al., 2025) are the only two to date that have evaluated IADC therapy in comparison with a control condition.

The present study sought to build on the existing research evaluating the efficacy of IADC therapy for reducing the sadness and grief symptoms following bereavement. We hypothesized that participants' grief and sadness would be significantly reduced following IADC therapy, and that the experience of an ADC during therapy would be associated with additional benefits. Given the growing popularity of telehealth interventions (Greenwood et al., 2022) and varying experiences of grief severity over time (Pociunaite et al., 2023), we sought to determine whether therapy efficacy varied according to delivery method (in-person vs. online), time since bereavement, or baseline grief severity.

Method

The present study utilised a single-group wait-list control design whereby participants would be assessed over a one-month waiting period prior to the intervention (Time 1 to

Time 2). This design would establish a baseline level of grief symptoms, to be compared with data collected at one-month follow-up (Time 4). Some data regarding immediate response to therapy, including acceptability and occurrence of ADCs were assessed immediately posttreatment (Time 3). Ethical approval was granted by Human Research Ethics Committee of the Adelaide University (Approval #H-2023-207). Informed consent was obtained via signed consent forms after all participants had read and understood the approved participant information sheet. All data, including demographics and questionnaires, were collected using Qualtrics survey links and stored on secure university servers, with datasets anonymised prior to analysis with SPSS using one-way repeated measures ANOVAs.

Participants

Participants were 45 English-speaking bereaved adults (41 female) ranging in age from 28 to 73 years ($M = 51.51$, $SD = 10.42$) living in Australia, seeking assistance for their grief: to lessen emotional distress, alleviate grief symptoms, and facilitate adjustment to the loss. Recruitment occurred via various online channels including a university research participation website and the social media channels of a major grief services organisation. None of the participants had prior contact with the researchers. Participants predominantly ($n = 42$, 93.3%) reported losses of a spouse or immediate family member, compared to friend, extended family, or grandparent, with just over half ($n = 25$, 55.6%) occurring 1-5 years prior to therapy ($n = 9$, 20% experienced losses less than 12 months prior to therapy and $n = 11$, 24.4% more than 5 years prior to therapy). Baseline grief severity as reported on the International Prolonged Grief Disorder Scale (Killikelly et al., 2020) ranged widely, indicating both moderate and clinically significant grief. Inclusion criteria were English-speaking adults who were bereaved and seeking assistance for grief. Interested participants then undertook a screening interview with the first author to determine suitability for admission to the study. Participants were then excluded if they were suicidal, if it had been less than six months since the loss, and if they were unwilling or unable to tolerate high levels of emotional distress. The protocol specifies that a minimum of six months since the loss is required to ensure the individual has likely passed through any short-term coping processes (e.g., shock, denial or numbing) and into a more stable grief profile appropriate for a structured intervention (Valdez et al., 2021).

Two participants withdrew from the study following commencement, one due to travelling overseas and the other due to psychoactive medications inhibiting the accessing and processing of sadness. No participants otherwise withdrew their data following commencement. All participants were free to withdraw at any time, and were offered a debrief with the first author at the conclusion of the study.

Primary Measures

International Prolonged Grief Disorder Scale. The International Prolonged Grief Disorder Scale (IPGDS; Killikelly et al., 2020) is a 15-item self-report measure of grief severity

and prolonged grief disorder. It has demonstrated strong reliability and validity across different cultural contexts and is often used to operationalize prolonged grief disorder (PGD) in clinical and research settings.

Average Daily Sadness. Participants were asked to rate their average daily sadness on a scale of zero (*not at all sad*) to ten (*as sad as I've ever felt*), as a means of assessing subjective self-reported sadness, a crucial affective marker of grief.

Secondary Measures

DASS-21. Depression, anxiety, and stress was measured using the 21-item version of the Depression, Anxiety, and Stress Scale (DASS-21; [Lovibond & Lovibond, 1995a](#); [Lovibond & Lovibond, 1995b](#)). For each item, participants are asked to rate how much a particular statement applied to them over the past week on a four-point scale from 0 (*did not apply to me at all*) to 3 (*applied to me very much, or most of the time*). A total subscale score or mean may be derived, where higher scores indicate higher levels of impairment. The DASS-21 has demonstrated strong psychometric properties in a large adult sample ([Crawford & Henry, 2003](#)).

Hogan Grief Reaction Checklist. The Hogan Grief Reaction Checklist (HGRC; [Hogan et al., 2001](#)) is a 61-item self-report measure designed to assess multiple dimensions of grief, developed from empirical data collected from bereaved individuals. The HGRC includes six factors that represent key aspects of the grief process: Despair, Panic Behavior, Blame and Anger, Detachment, Disorganization, and Personal Growth. It has been shown to have strong reliability and validity, and it is often used in research to capture the emotional and psychological responses to bereavement over time ([Hogan et al., 2001](#)).

Ongoing Attachment Inventory – Continuing Presence Subscale. The Ongoing Attachment Inventory (OAI) is a measure designed to assess the extent to which individuals maintain an emotional attachment to a deceased loved one ([Hogan et al., 2014](#)). It evaluates the presence of ongoing bonds that persist after the physical loss, reflecting how individuals continue to experience their relationship with the deceased. The Continuing Presence (CP) subscale of the OAI includes ten items specifically to assess the degree to which individuals feel the ongoing presence of the deceased in their daily lives. It reflects perceptions that the deceased is still emotionally or spiritually close. It was selected for inclusion in the present study as a means of capturing the potential ongoing effects of ADCs on continuing bonds with the deceased. This is distinct from ADCs themselves.

After-Death Communications. The occurrence of ADCs was measured by subjective self-report in response to the following: “During the course of your IADC Therapy (during the sessions or in-between sessions), did you experience or perceive the presence of your deceased loved one in some way OR a distinct emotional experience that you

attribute to your deceased loved one?” This item was developed to align closely with descriptions of after-death communication experiences reported in prior empirical and phenomenological research (e.g., Guggenheim & Guggenheim, 1995; Steffen & Coyle, 2011), and reflects the phrasing typically used in IADC therapy protocols to capture both perceptual and affective experiences attributed to the deceased.

Intervention - IADC Therapy

The intervention was delivered by the first and second authors, both experienced clinical psychologists (PhD; MClinPsych) with more than 15 years of experience working with bereaved clients, in private practice settings (in person and via telehealth). The IADC therapy protocol developed by Botkin (2000, 2014) was utilised by both Holden et al. (2019) and D’Antonio et al. (2025) and was applied in the current study. It first involves an assessment of the saddest parts of the client’s current experience of grief. That is, the client and therapist collaboratively identify the strongest ‘pieces of sadness’ – those memories, events, or cognitions that are associated with the strongest intensity of affect. The administration of BLS then occurs by targeting the ‘worst first’: repeated sets of eye movement or bilateral tapping (for example, the therapist tapping the back of the clients hands which rest on their upper legs, or the client self-tapping alternate shoulders with their arms crossed over their chest in a ‘butterfly hug’ position) while the client attends to the saddest aspects of their bereavement. Over repeated sets of BLS, the intensity of affect reduces until the client’s self-reported subjective units of distress (SUDs) are greatly reduced or zero. Over two ninety-minute sessions (usually on consecutive days), the therapeutic protocol directs the therapist to process as much sadness as possible, and to continue BLS if or when the client experiences a complete reduction in sadness and/or experiences positive emotions. By continuing BLS, clients commonly report further increases in positive feelings such as calm or peacefulness. It is expected that some clients during this latter phase will experience an ADC. These ADCs may take the form of subjective visual, auditory, olfactory or tactile sensations associated with the deceased; or a subjective sense of presence usually associated with strong positive emotions. The protocol then directs the therapist to assist the client in making meaning of their experience and invites the client to ask any questions they may have.

Eighteen participants (41.9%) received the therapy in person, while the remaining completers ($n = 25$, 58.1%) were seen online.

Acceptability. Thirty participants (69%) had previously sought treatment for grief prior to enrolling in the study. Following IADC therapy, participants were asked how likely they would be to recommend the therapy to others on a scale from zero (*not likely*) to ten (*very likely*), with a mean result of 9.56 ($SD = .881$). Forty-two (97.7%) reported that they felt “lighter, less sad, or better able to move forward as a result of IADC therapy”.

Data Analysis

Given the design used, to test the treatment effect, we wished to test whether there was a significant change from baseline to post-treatment. To do so, we ran one-way repeated measures ANOVAs using difference (reverse Helmert) contrasts. These contrasts test whether the mean at each time point is different from the average of all preceding time points. So, this leads to the following two contrasts: (a) T2 (baseline) versus T1 (baseline), and (b) T4 (one-month post-treatment) versus the average of the two baseline measurements. The first contrast tests whether scores are stable over time on the measure during the baseline period. The second contrast, the critical one, compares post-treatment scores against the average scores across the baseline period (which is a better estimate of the baseline score than just taking the Time 2 score). For all our effect size measures, we use a variant of Cohen's d ; where we use the pooled standard deviation of the two baseline measures as our index of the population standard deviation. This measure is uncontaminated by the treatment and also ensures a common denominator in all comparisons for any particular measure.

We also tested *moderators* of the treatment effect using the same strategy as described above. We repeated the initial analyses (with associated contrasts) to test for the effects of four moderators: (a) delivery method (in-person, via Zoom), (b) time since loss, (c) occurrence of an after-death communication (ADC), and (d) baseline global grief severity. Each moderator was included one at a time, as either a between-subjects factor (delivery method, ADC) or as a covariate (time since loss, baseline global grief severity). For all these analyses, we focussed on the interactions associated with Contrast 2 (average baseline versus one-month post-treatment).

Results

Testing the Treatment Effect

The means (and standard deviations) for each measure at each of the time points along with the Cohen's d for each of the two contrasts are shown in Table 1. In Table 2, the inferential statistics are shown for each contrast test.

For all dependent variables, virtually the same pattern of effects was observed in the baseline period. For all but two of our measures, we found no significant difference between scores during the baseline period (i.e., Time 1 and Time 2), Cohen's d all less than 0.21, reflecting stability during the waitlist control period and confirming that the baseline provided a reliable comparison point for detecting treatment effects at follow up. For the panic and the blame and anger subscales of the HGRC, we found significant results, both with $p = .041$ but, in each case, we found a very small increase of less than one-quarter of a standard deviation, $d = 0.23$ in both cases.

In contrast, for our two primary outcome measures, global grief severity and average daily sadness, we found significant decreases between baseline and one-month post-treatment with very large effects for both measures, Cohen's d were 1.56 (global grief) and 1.33 (average daily sadness).

Table 1. Means (SDs) and Effect Sizes for Contrasts Between Measurement Time Points

Outcome	Baseline (BL)		Cohen's <i>d</i>		Post-treatment		Cohen's <i>d</i>
	T1	T2	T1 v T2	Av. BL	T4	Av. BL vs T4	
IPGDS							
Global grief severity	42.24 (7.84)	42.71 (9.05)	0.06	42.48 (8.47)	29.26 (9.95)		−1.56
Subjective sadness							
Average daily	7.79 (2.10)	7.52 (2.19)	−0.13	7.66 (2.15)	4.81 (2.39)		−1.33
HGRC							
Despair	40.00 (11.09)	40.48 (12.48)	0.04	40.24 (11.81)	26.90 (10.44)		−1.13
Panic	40.29 (9.63)	42.57 (10.27)	0.23	41.43 (9.96)	29.90 (9.51)		−1.16
Blame & anger	13.57 (4.50)	14.76 (5.63)	0.23	14.17 (5.10)	10.43 (3.38)		−0.73
Detachment	23.07 (6.38)	24.07 (7.15)	0.15	23.57 (6.78)	15.55 (6.39)		−1.18
Disorganization	23.33 (5.21)	24.10 (5.61)	0.14	23.72 (5.41)	17.79 (5.87)		−1.09
Personal growth	33.69 (8.78)	33.38 (9.98)	−0.03	33.54 (9.40)	40.57 (9.60)		0.75
DASS							
Depression	18.43 (5.41)	17.60 (5.58)	−0.15	18.02 (5.50)	12.50 (5.02)		−1.00
Anxiety	13.98 (5.00)	14.36 (4.74)	0.08	14.17 (4.87)	10.62 (3.45)		−0.73
Stress	18.05 (4.49)	18.10 (5.84)	0.01	18.08 (5.21)	13.21 (4.28)		−0.93

Note. IPGDS = International Prolonged Grief Disorder Scale; HGRC = Hogan Grief Reaction Checklist; DASS = Depression, Anxiety, Stress Scale. Contrasts compare scores at indicated measurement points.

Table 2. ANOVA Results for Planned Contrasts for Change During the Baseline Period and for Change From Baseline to Post-treatment

Outcome	Contrast 1				Contrast 2			
	Baseline: T1 versus T2				Average baseline versus time 4			
	<i>F</i>	<i>df</i>	<i>p</i>	<i>MSE</i>	<i>F</i>	<i>df</i>	<i>p</i>	<i>MSE</i>
IPGDS								
Global grief severity	0.31	1.41	.58	31.2	109.5	1.41	<.001	67.0
Subjective sadness								
Average daily	1.34	1.41	.25	2.15	64.9	1.41	<.001	5.24
HGRC								
Despair	0.41	1.41	.53	23.4	115.0	1.41	<.001	64.9
Panic	4.44	1.41	.041	49.4	80.3	1.41	<.001	80.3
Blame & anger	4.45	1.41	.041	13.4	37.9	1.41	<.001	15.5
Detachment	1.90	1.41	.18	22.1	99.6	1.41	<.001	27.2
Disorganization	1.74	1.41	.19	14.0	71.3	1.41	<.001	20.7
Personal growth	0.15	1.41	.70	27.2	45.3	1.41	<.001	45.8
DASS								
Depression	2.37	1.41	.13	12.3	67.1	1.41	<.001	19.0
Anxiety	0.40	1.41	.53	15.3	40.1	1.41	<.001	13.2
Stress	0.01	1.41	.94	18.7	84.4	1.41	<.001	11.7

Note. IPGDS = International Prolonged Grief Disorder Scale; HGRC = Hogan Grief Reaction Checklist; DASS = Depression, Anxiety, Stress Scale. Contrasts compare scores at indicated measurement points.

Similar patterns were observed for all of the HGRC subscales with large improvements observed on all subscales (Cohen's *d* values ranged between 0.73 and 1.16). Likewise, on all three subscales of the DASS, large improvements were also observed (Cohen's *d* values ranged between 0.73 and 1.00).

Given the similar findings across all our outcome measures we examined a summary of the correlations which showed that in general, for all the variables, there were significant correlations between the outcome measures at all time points in the study. All our secondary outcome measures were significantly correlated with both global grief (*r* between .35 and .88 at baseline; between .52 and .92 post-treatment) and average daily sadness (*r* between .25 and .66 at baseline; between .32 and .67 post-treatment).

Clinical Significance of the Treatment Effect

We considered the clinical significance of the treatment effect using the putative caseness ("diagnosis") score obtained from the IPGDS. Of the 43 patients, 9 (20.9%) had a "diagnosis" pre-treatment (at Time 2). This reduced to only 3 (7.0%) at one-month post-treatment (at Time 4); a reduction of two-thirds in "diagnosed" cases. A McNemar

non-parametric test for change in related samples showed that this reduction was significant, $\chi^2(1) = 4.17, p = .041$.

Investigating the Role of Delivery Method, Time Since Loss, and Pre-treatment Global Grief on the Treatment Effect

Considering that the outcomes measures were generally highly correlated, our moderation analyses focussed only on our two primary outcomes. In general, there was no evidence supporting a difference in improvements following treatment between the two delivery methods (in-person or via Zoom). The Contrast 2 by delivery method interaction was not significant for either global grief severity, $F(1.40) = 1.28, p = .26$, or average daily sadness, $F(1.40) = 0.51, p = .48$.

The same patterns were observed when we tested whether the treatment effects were moderated by time since loss. For both analyses, the relevant Contrast 2 by time since loss interaction was not significant: for global grief severity, $F(1.40) = 2.17, p = .15$, and for average daily sadness, $F(1.40) = 0.00, p = .99$.

Likewise, when looking at the moderating role of average baseline global grief severity, the relevant Contrast 2 by pre-treatment global grief interaction was not significant for global grief severity, $F(1.40) = 2.20, p = .12$. Taken together with the previous finding, this shows a large decrease in global grief severity following treatment, $d = -1.56$, irrespective of initial global grief severity. For average daily sadness, the relevant Contrast 2 by pre-treatment global grief interaction did not reach significance, $F(1.40) = 2.96, p = .067$.

Looking at the estimated means for high baseline global grief severity (i.e., one SD above the mean) and low baseline global grief severity (i.e., one SD below the mean), very large effects were found for both, albeit marginally stronger for high baseline grief severity; at high baseline global grief, est. baseline $M = 8.97$, est. post-treatment $M = 5.68, d = 1.53$ versus at low baseline global grief, est. baseline $M = 5.97$, est. post-treatment $M = 3.78, d = 1.02$.

Investigating the Role of an Occurrence of an “After Death Communication” (ADC) and Continuing Presence

ADC occurrence was recorded immediately post-treatment via reporting of participants' subjective experiences. Occurrence of an ADC did not significantly moderate the treatment effect for either primary outcome (global grief severity, $F(1.40) = 1.48, p = .23$; average daily sadness, $F(1.40) = 0.05, p = .81$). However, of the 43 participants, 34 (79.0%) had experienced an ADC during therapy. Because there were only nine participants who did not experience an ADC during therapy, the statistical power of the tests was low.

However, despite the low statistical power of the test, we did find that those who had experienced an ADC ($M = 44.77, SD = 6.94$) had significantly higher scores at Time 4 on the Continuing Presence subscale (of the OAI) than those who had not experienced an ADC ($M = 38.75, SD = 9.50$), $t(41) = 2.07, p = .045$, Cohen's $d = 0.81$.

Finally, we found that continuing presence was significantly correlated with average daily sadness at baseline ($r = .45, p = .002$) but not at one-month post-treatment ($r = .04, p = .79$). On the other hand, continuing presence was not significantly correlated with global grief severity at either baseline ($r = .19, p = .23$) nor one-month post-treatment ($r = -.02, p = .88$).

Discussion

The present study achieved its aims of assessing whether grief and sadness were significantly reduced following IADC therapy, whether the occurrence of an ADC was associated with additional benefits, and whether outcomes differed based on mode of delivery (in-person or online). Large reductions in grief symptoms and sadness were observed, and those participants who had an ADC reported a stronger continuing presence of the deceased at one-month follow-up. Therapeutic outcomes were comparable regardless of delivery method.

The observed therapeutic effects provide further support for [Holden et al. \(2019\)](#) and [D'Antoni et al.'s \(2025\)](#) findings and suggest IADC therapy represents a promising therapeutic option for grief which merits consideration alongside established interventions. These findings are of notable clinical significance given two thirds of cases of prolonged grief disorder no longer met clinical cutoff at follow-up. The magnitude of effects also supports the clinical significance of the intervention. The effect size on global grief severity in the present study ($d = 1.56$) compares favourably to reported effect sizes in reviews of other common psychotherapies e.g., Cognitive Behavioural Therapy for depression (CBT) $d = 0.71$; [Cuijpers et al. 2013](#), CBT for anxiety disorders ($d = 0.84$; [Norton & Price, 2007](#)), Interpersonal Psychotherapy for depression ($d = 0.63$; [Cuijpers et al., 2011](#)), and EMDR for PTSD ($g = 0.66$; [Chen et al., 2014](#)). Compared to targeted grief interventions, where meta-analyses typically report effect sizes ranging from $d = 0.53$ immediately post-intervention to $d = 1.38$ at follow-up ([Wittouck et al., 2011](#)), the current findings suggest particularly robust therapeutic effects.

Not only is IADC therapy clinically efficacious, as a two-session intervention it is also very efficient. This contrasts with other grief interventions which typically require many more sessions (e.g., complicated grief treatment which is 16 sessions; [Shear et al., 2016](#)). It also appears to be versatile. Large reductions in grief and sadness were observed regardless of the baseline severity, suggesting IADC therapy may be suitable for both severe and moderate grief. Furthermore, effects were comparable for both in-person or Zoom delivery. Time since loss also did not moderate the outcome. The occurrence of ADCs was not associated with greater improvements on the primary outcome measures; however, this analysis was underpowered and therefore should be interpreted with caution.

Consistent with the purported therapeutic mechanisms of IADC, reductions in sadness were not dependent on the occurrence of an ADC. As in EMDR, the bilateral stimulation reliably reduces emotional distress. However, having an ADC resulted in a stronger sense of the continuing presence of the deceased, which represents a secondary and additional therapeutic effect. This is consistent with research indicating that

maintaining an ongoing internalised bond with the deceased can foster comfort, continuity, and meaning reconstruction in bereavement (Klass et al., 1996; Neimeyer et al., 2006).

Prior to treatment, a sense of the deceased's continuing presence was associated with feeling sad whereas after treatment it was not, which is consistent with the intent and reported phenomenology of IADC therapy (Botkin, 2000; Holden et al., 2019). Neimeyer and colleagues (Neimeyer et al., 2006) emphasised the shift in grief therapy from accepting the loss of the deceased to maintaining ongoing bonds. They suggested that ongoing bonds with the deceased assists in meaning making following a loss and can be associated with improved adjustment throughout the bereavement process. By inducing ADCs in grief therapy, IADC can assist in enhancing a sense of continuing presence, whereby the bereaved's ongoing attachment to the deceased is no longer associated with sadness. Rather, the continuing presence of the deceased is consistently reported to be associated with feelings of love, gratitude, peace and acceptance (Botkin, 2014; Valdez et al., 2021).

Given the prevalence and associated burden of prolonged grief worldwide (Comtesse et al., 2024; Hilberdink et al., 2023; Rosner et al., 2021), the wider dissemination of IADC therapy represents a significant public health opportunity.

Limitations and Recommendations for Future Research

A limitation of the present study included the lack of an active control condition, which means we cannot rule out that non-specific factors (such as therapeutic alliance and expectancy effects) may have contributed to the observed improvements. Research in psychotherapy more broadly indicates that these common factors account for a substantial proportion of outcome variance across modalities (Flückiger et al., 2018; Sparks & Duncan, 2016). While the wait-list control design allowed us to control for the effects of time and spontaneous recovery, future research would benefit from comparing IADC therapy to established grief interventions such as Complicated Grief Therapy or EMDR to determine relative efficacy. Such comparisons would also help isolate the specific therapeutic mechanisms underlying IADC's effectiveness. Due to the small number of participants meeting diagnostic criteria at baseline ($n = 9$), interpretation of clinical significance should be viewed cautiously, although large effect sizes were robust across the sample.

A strength of this study is that it represents the third controlled evaluation of IADC therapy and the first to test both in-person and telehealth delivery.

Future research into IADC therapy should utilize larger samples with more male participants and randomization to active control conditions. This would enable a more granular analysis of predictors of response to therapy, would clarify whether ADCs are associated with greater improvements, and help refine clinical guidelines.

One of the identified priorities for grief research is the prevention of complicated/prolonged grief (Hay et al., 2021). Given the significant psychological, social, and physical health consequences of prolonged grief, including elevated risks of depression,

suicidality, and functional impairment (Prigerson et al., 2021; Rosner et al., 2021), the efficiency and efficacy of IADC therapy make it a promising candidate for such a study.

Conclusion

These findings collectively suggest that IADC therapy is an efficacious and efficient intervention for reducing grief symptoms, daily sadness, and depressive symptoms in individuals experiencing prolonged grief, with high acceptability. The large effect sizes observed, coupled with improvements across various dimensions of grief and a substantial reduction in PGD caseness, underscore the clinical significance of these results. Further research with larger sample sizes is recommended.

ORCID iD

Thomas J. Nehmy  <https://orcid.org/0009-0001-4606-948X>

Ethical Consideration

Ethical approval for the trial was granted by the Human Research Ethics Committee of the Adelaide University (Approval #H-2023-207) and registered with the ISRCTN Registry (#ISRCTN10485391).

Consent to Participate

All participants provided informed consent.

Funding

The authors received no financial support for the research, authorship, and/or publication of this article.

Declaration of Conflicting Interests

TN and JD receive fees for conducting IADC therapy as part of their respective clinical practices, however no fees were received for work relating to this study.

References

- American Psychiatric Association. (2022). *Diagnostic and statistical manual of mental disorders* (5th ed., text rev.). American Psychiatric Publishing. <https://doi.org/10.1176/appi.books.9780890425787>
- Beischel, J. (2019). Spontaneous, facilitated, assisted, and requested after-death communication experiences and their impact on grief. *Threshold: Journal of Interdisciplinary Consciousness Studies*, 3(1), 1–32.
- Botkin, A. (2000). The induction of after-death communications utilizing eye-movement desensitization and reprocessing: A new discovery. *Journal of Near-Death Studies*, 18(3), 181–209. <https://doi.org/10.1023/A:1021323516796>
- Botkin, A. L. (2014). *Induced after-death communication: A miraculous therapy for grief and loss*. Hampton Roads Publishing.

- Botkin, A. L., & Hannah, M. T. (2013). Brief report: Psychotherapeutic outcomes reported by therapists trained in induced after-death communication. *Journal of Near-Death Studies*, 31(4), 221–224.
- Chen, Y. R., Hung, K. W., Tsai, J. C., Chu, H., Chung, M. H., Chen, S. R., Chang, Y. C., & Chou, K. R. (2014). Efficacy of eye-movement desensitization and reprocessing for patients with posttraumatic-stress disorder: A meta-analysis of randomized controlled trials. *PLoS One*, 9(8), Article e103676. <https://doi.org/10.1371/journal.pone.0103676>
- Comtesse, H., Smid, G. E., Rummel, A. M., Spreeuwenberg, P., Lunderoff, M., & Dückers, M. L. (2024). Cross-national analysis of the prevalence of prolonged grief disorder. *Journal of Affective Disorders*, 350, 359–365. <https://doi.org/10.1016/j.jad.2024.01.094>
- Crawford, J. R., & Henry, J. D. (2003). The Depression Anxiety Stress Scales (DASS): Normative data and latent structure in a large non-clinical sample. *British Journal of Clinical Psychology*, 42(Pt 2), 111–131. <https://doi.org/10.1348/014466503321903544>
- Cuijpers, P., Berking, M., Andersson, G., Quigley, L., Kleiboer, A., & Dobson, K. S. (2013). A meta-analysis of cognitive-behavioural therapy for adult depression, alone and in comparison with other treatments. *Canadian Journal of Psychiatry*, 58(7), 376–385. <https://doi.org/10.1177/070674371305800702>
- Cuijpers, P., Geraedts, A. S., van Oppen, P., Andersson, G., Markowitz, J. C., & van Straten, A. (2011). Interpersonal psychotherapy for depression: A meta-analysis. *American Journal of Psychiatry*, 168(6), 581–592. <https://doi.org/10.1176/appi.ajp.2010.10101411>
- D'Antoni, F., Pulvirenti, I., D'Orlando, A., Claudio, V., & Lalla, C. (2025). Induced after-death communication (IADC) therapy: An effective and quick intervention to cope with grief. *Psychology International*, 7(1), 25. <https://doi.org/10.3390/psycholint7010025>
- Exline, J. J. (2021). Psychopathology, normal psychological processes, or supernatural encounters? Three ways to frame reports of after-death communication. *Spirituality in Clinical Practice*, 8(3), 164–176. <https://doi.org/10.1037/scp0000245>
- Flückiger, C., Del Re, A. C., Wampold, B. E., & Horvath, A. O. (2018). The alliance in adult psychotherapy: A meta-analytic synthesis. *Psychotherapy*, 55(4), 316–340. <https://doi.org/10.1037/pst0000172>
- Greenwood, H., Krzyzaniak, N., Peiris, R., Clark, J., Scott, A. M., Cardona, M., Griffith, R., & Glasziou, P. (2022). Telehealth versus face-to-face psychotherapy for less common mental health conditions: Systematic review and meta-analysis of randomized controlled trials. *JMIR Mental Health*, 9(3), Article e31780. <https://doi.org/10.2196/31780>
- Guggenheim, B., & Guggenheim, J. (1995). *Hello from Heaven! A New Field of Research—After-death Communication—Confirms That Life and Love are Eternal*. Bantam Books.
- Hannah, M. T., Botkin, A. L., Marrone, J. G., & Streit-Horn, J. (2013). Brief report: Induced after-death communication: An update. *Journal of Near-Death Studies*, 31(4), 213–220.
- Hay, A., Hall, C. W., Sealey, M., Lobb, E. A., & Breen, L. J. (2021). Developing a practice-based research agenda for grief and bereavement care. *Death Studies*, 45(5), 331–341. <https://doi.org/10.1080/07481187.2019.1636897>
- Hilberdink, C. E., Ghainder, K., Dubanchet, A., Hinton, D., Djelantik, A. A. A. M. J., Hall, B. J., & Bui, E. (2023). Bereavement issues and prolonged grief disorder: A global perspective. *Cambridge Prisms: Global Mental Health*, 10, Article e32. <https://doi.org/10.1017/gmh.2023.28>

- Hogan, N. S., Greenfield, D. B., & Schmidt, L. A. (2001). The development and validation of the Hogan Grief Reaction Checklist. *Death Studies*, 25(1), 1–32. <https://doi.org/10.1080/07481180125831>
- Hogan, N. S., Schmidt, L., & Coolican, M. (2014). The bereavement process of tissue donor family members: Responses of grief, posttraumatic stress, personal growth, and ongoing attachment. *Progress in Transplantation*, 24(3), 288–293. <https://doi.org/10.7182/pit2014595>
- Holden, J. M., St Germain-Sehr, N. R., Reyes, A., Loseu, S., Schmit, M. K., Laird, A., Weintraub, L., St Germain-Sehr, A. M., Price, E., Blalock, S., Bevely, C., Lankford, C., & Mandalise, J. (2019). Comparative effects of induced after-death communication and traditional counselling on grief. *Grief Matters: The Australian Journal of Grief and Bereavement*, 22(1), 4–9.
- Kamp, K. S., Moskowitz, A., Due, H., & Spindler, H. (2024). Are sensory experiences of one's deceased spouse associated with bereavement-related distress? *OMEGA - Journal of Death and Dying*, 89(3), 1–21. <https://doi.org/10.1177/00302228221078686>
- Killikelly, C., Zhou, N., Merzhvynska, M., Stelzer, E. M., Dotschung, T., Rohner, S., Sun, L. H., & Maercker, A. (2020). Development of the international prolonged grief disorder scale for the ICD-11: Measurement of core symptoms and culture items adapted for Chinese and german-speaking samples. *Journal of Affective Disorders*, 277, 568–576. <https://doi.org/10.1016/j.jad.2020.08.057>
- Klass, D., Silverman, P. R., & Nickman, S. L. (Eds.), (1996). *Continuing bonds: New understandings of grief*. Taylor & Francis.
- Lovibond, P. F., & Lovibond, S. H. (1995a). The structure of negative emotional states: Comparison of the Depression Anxiety Stress Scales (DASS) with the beck depression and anxiety inventories. *Behaviour Research and Therapy*, 33(3), 335–343. [https://doi.org/10.1016/0005-7967\(94\)00075-U](https://doi.org/10.1016/0005-7967(94)00075-U)
- Lovibond, S. H., & Lovibond, P. F. (1995b). *Manual for the depression anxiety stress scales*. Psychology Foundation of Australia.
- Lundorff, M., Holmgren, H., Zachariae, R., Farver-Vestergaard, I., & O'Connor, M. (2017). Prevalence of prolonged grief disorder in adult bereavement: A systematic review and meta-analysis. *Journal of Affective Disorders*, (212), 138–149.
- Makikomsa, M., Terkamo-Moisio, A., Kaunonen, M., & Aho, A. L. (2024). Consequences of unexplained experiences in the context of bereavement – Qualitative analysis. *OMEGA - Journal of Death and Dying*, 88(3), 936–950. <https://doi.org/10.1177/00302228211053474>
- Neimeyer, R. A., Baldwin, S. A., & Gillies, J. (2006). Continuing bonds and reconstructing meaning: Mitigating complications in bereavement. *Death Studies*, 30(8), 715–738. <https://doi.org/10.1080/07481180600848322>
- Neimeyer, R. A., & Currier, J. M. (2009). Grief therapy: Evidence of efficacy and emerging directions. *Current Directions in Psychological Science*, 18(6), 352–356. <https://doi.org/10.1111/j.1467-8721.2009.01666.x>
- Norton, P. J., & Price, E. C. (2007). A meta-analytic review of adult cognitive-behavioral treatment outcome across the anxiety disorders. *Journal of Nervous and Mental Disease*, 195(6), 521–531. <https://doi.org/10.1097/01.nmd.0000253843.70149.9a>

- Penberthy, J. K., St Germain-Sehr, N. R., Grams, G., Burns, M., Lorimer, D., Cooper, C. E., Roe, C. A., Morrison, S., & Elsaesser, E. (2023). Description and impact of encounters with deceased partners or spouses. *OMEGA - Journal of Death and Dying*. Advance online publication. <https://doi.org/10.1177/00302228231207900>
- Pociunaite, J., Van Dijk, I., Reitsma, L., Nordström, E. E. L., Boelen, P. A., & Lenferink, L. I. M. (2023). Latent trajectories of DSM-5-TR-based prolonged grief disorder: Findings from a data pooling project MARBLES. *European Journal of Psychotraumatology*, 14(2), Article 2281183. <https://doi.org/10.1080/20008066.2023.2281183>
- Prigerson, H. G., Maciejewski, P. K., Reynolds, C. F. I. I., Bierhals, A. J., Newsom, J. T., Fasiczka, A., Frank, E., Doman, J., & Miller, M. (1995). Inventory of complicated grief: A scale to measure maladaptive symptoms of loss. *Psychiatry Research*, 59(1–2), 65–79. [https://doi.org/10.1016/0165-1781\(95\)02757-2](https://doi.org/10.1016/0165-1781(95)02757-2)
- Rosner, R., Comtesse, H., Vogel, A., & Doering, B. K. (2021). Prevalence of prolonged grief disorder. *Journal of Affective Disorders*, 287, 301–307. <https://doi.org/10.1016/j.jad.2021.03.058>
- Shapiro, F. (2018). *Eye movement desensitization and reprocessing (EMDR) therapy: Basic principles, protocols, and procedures* (3rd ed.). Guilford Press.
- Shear, M. K., Reynolds, C. F., III, Simon, N. M., Zisook, S., Wang, Y., Mauro, C., Duan, N., Lebowitz, B., & Skritskaya, N. (2016). Optimizing treatment of complicated grief: A randomized clinical trial. *JAMA Psychiatry*, 73(7), 685–694. <https://doi.org/10.1001/jamapsychiatry.2016.0892>
- Sparks, J. A., & Duncan, B. L. (2016). Client strengths and resources: Helping clients draw on what they already do best. In M. Cooper & W. Dryden (Eds.), *The handbook of pluralistic counselling and psychotherapy* (pp. 68–79). Sage Publications.
- Steffen, E., & Coyle, A. (2011). Sense of presence experiences and meaning-making in bereavement: A qualitative analysis. *Death Studies*, 35(7), 579–609. <https://doi.org/10.1080/07481187.2011.584758>
- Streit-Horn, J., Holden, J. M., & Smith, J. E. (2022). Empirically-based best estimates of After-Death Communication (ADC) phenomena: A systematic review of research. *Journal of Near-Death Studies*, 40(3), 141–176. <https://doi.org/10.17514/jnds-2022-40-3-p141-144>
- Stroebe, M., Schut, H., & Stroebe, W. (2007). Health outcomes of bereavement. *The Lancet*, 370(9603), 1960–1973. [https://doi.org/10.1016/S0140-6736\(07\)61816-9](https://doi.org/10.1016/S0140-6736(07)61816-9)
- Valdez, C., Jordan, J. R., & Botkin, A. (2021). Induced after death communication. In R. A. Neimeyer (Ed.), *New techniques of grief therapy: Bereavement and beyond* (pp. 280–283). Routledge.
- Wittouck, C., Van Autreve, S., De Jaegere, E., Portzky, G., & van Heeringen, K. (2011). The prevention and treatment of complicated grief: A meta-analysis. *Clinical Psychology Review*, 31(1), 69–78. <https://doi.org/10.1016/j.cpr.2010.09.005>

Author Biographies

Thomas J. Nehmy, PhD, is a clinical psychologist and Visting Research Fellow in the School of Psychology at Adelaide University. His research interests include IADC therapy, the prevention of psychological disorders, and the nexus of psychology and spirituality.

John Daniels, MPsych(Clin), is a clinical psychologist in private practice on the Gold Coast, Queensland, Australia. His clinical work includes posttraumatic stress disorder and the psychological impact of chronic illness, with a particular interest in the treatment of prolonged grief using IADC therapy.

Paul Williamson, PhD, is a retired Senior Lecturer (Psychology) in the College of Education, Psychology and Social Work at Flinders University. His extensive teaching and research interests include research design and data analysis and the role of confidence in memory judgements.

Sarah E. Stegall-Rodriguez, M.A., is a Lecturer in Psychological Science at The University of Texas Rio Grande Valley, currently pursuing a doctoral degree in psychology at The University of Texas at San Antonio. She is also an experienced survey design and data analysis consultant.

Noelle R. St Germain-Sehr, PhD, is Clinical Associate Professor and Counseling Clinical Experience Director (online programs) at William & Mary. Her clinical and research interests include IADC therapy and veridical after-death communications, transpersonal experiences, LGBTQ+ counselling and neurodiversity.